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EQUIPO Q. 1 Q. 2 Q. 3 Q. 4 RESULTADO 

A.E.S.E. A 12 18 20 18 68 

SESE 15 15 16 11 57 

 

 

 

 

 

 

     

A.E.S.E. A( Miguel Panades, Jesus Martín )  

TOTALES EQUIPO 68 21/42 50% 7/22 32% 5/9 56% 22 17 10 0 24 11 4 12 
 

JUGADORES TJ PTS T2 T2% T3 T3P% T1 T1% FC FS A B RD RO RB PB V 

4 Edu real  23:52 7 1/4 25% 1/4 25% 2/4 50% 2 5 4 0 5 2 0 0 13 

5 Fao Bouybouene 21:31 10 5/7 71% 0/2 0% 0/0 0% 1 2 2 0 1 0 1 2 9 

6 Valencia 30:00 12 1/4 25% 3/6 50% 1/2 50% 2 2 0 0 2 2 1 0 10 

7 Carlos lao 10:00 2 1/2 50% 0/2 0% 0/0 0% 2 0 0 0 1 1 0 2 -3 

9 Fermín Gomez 17:41 8 3/5 60% 0/0 0% 2/3 67% 3 5 0 0 1 2 0 0 10 

10 Xavi laguna 25:07 17 4/5 80% 3/6 50% 0/0 0% 3 0 2 0 3 0 0 0 15 

11 Javi solomando 16:08 0 0/3 0% 0/1 0% 0/0 0% 2 2 1 0 2 2 1 1 1 

12 Manu Gomez 24:27 8 4/7 57% 0/0 0% 0/0 0% 2 0 0 0 2 1 0 2 4 

13 Michalik  00:00 0 0/0 0% 0/0 0% 0/0 0% 0 0 0 0 0 0 0 0 0 

15 Javi hoyos 17:55 2 1/4 25% 0/0 0% 0/0 0% 4 1 1 0 5 1 1 2 2 

16 Victor Campodarbe 00:00 0 0/0 0% 0/0 0% 0/0 0% 0 0 0 0 0 0 0 0 0 

33 Quim Martín  13:19 2 1/1 100% 0/1 0% 0/0 0% 1 0 0 0 2 0 0 3 -1 

SESE( CHARLY GIRALT, )  

TOTALES EQUIPO 57 15/32 47% 6/19 32% 9/17 53% 19 17 2 3 19 5 1 9 
 

JUGADORES TJ PTS T2 T2% T3 T3P% T1 T1% FC FS A B RD RO RB PB V 

4 VÍCTOR ORLACH 15:34 0 0/1 0% 0/3 0% 0/0 0% 3 1 0 0 0 0 0 0 -6 

5 ALVARO LÓPEZ 20:18 2 1/3 33% 0/1 0% 0/0 0% 1 1 0 0 0 0 0 1 -2 

6 RAÚL DÍAZ 00:00 0 0/0 0% 0/0 0% 0/0 0% 0 0 0 0 0 0 0 0 0 

7 OSCAR GONZÁLEZ  19:11 5 2/5 40% 0/1 0% 1/2 50% 1 3 1 1 4 1 0 0 9 

8 OSCAR CÁMARA (C) 24:27 4 2/4 50% 0/0 0% 0/0 0% 3 1 0 1 3 1 0 1 4 

9 R. MERETER 00:00 0 0/0 0% 0/0 0% 0/0 0% 0 0 0 0 0 0 0 0 0 

11 AITOR ANDRES  25:39 11 3/6 50% 0/0 0% 5/9 56% 1 5 0 1 5 1 0 3 12 

12 QUIM GALVE 21:26 10 1/3 33% 2/8 25% 2/2 100% 0 1 0 0 2 0 0 0 5 

13 G. ANDREU 18:34 0 0/0 0% 0/1 0% 0/2 0% 3 3 1 0 0 0 1 2 -3 

15 I. GÓMEZ 18:27 13 2/3 67% 3/3 100% 0/0 0% 3 1 0 0 2 1 0 0 13 



 

 

17 IVAN ARANDA 08:49 7 3/5 60% 0/0 0% 1/2 50% 2 1 0 0 3 1 0 2 5 

19 PABLO CASADO 27:35 5 1/2 50% 1/2 50% 0/0 0% 2 0 0 0 0 0 0 0 1 
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